5x1=1x565=_. 5x10=10x5= .
5x2=... 5x20= ...
5x5= . 5x50= . .
02) 5x10= . 5x100= ...
e Calcule et complete :
6X...=42 | .. X7 =21 6X8= . b6X6= ... 9x9= .
...... X6=54 | 4x.=36 | 8x..=56 | . x6=42 | 10x7= ..
4x9=.. b6X7 = .. /x..=35 | .. Xx4=28 | 6x..=60
5X...=40 | 9x..=72 | ... x9=18 | .. x8=64 | 7x...=56
...... X8 =56 9x...=0 8X..=64 | 9x..=45 5x9= .
6X...=54 | 4x.=40 3x8= .. | .. X7=63 | 7X..=28
8X..=32 /X7 =.. 4x..=32 | 3x..=18 Ix9=_.
6X8= .. 3X.=27 | 5x..=35 | 9x...=90 6X7 = ..
...... X..=35 e X . =10 e X =14 X =28
...... X .. =24 e X =15 e X =12 X ...=45
...... X..=18 e X = 21 X =0 X ..=25
...... X..=8 e X . =40 e X =16 X ...=50
...... X ... =54 e X .= 80 e X .= 25 X . =81
...... X ...=42 e X = 63 e X =36 X =100
...... X..=72 e X =35 e X =49 e X . =200
...... X .. =56 e X . =28 e X .= 64 . X ...= 500
e Complete les tables ci-dessous :
X10|1 | 2|34 )5 X]15 | 10| 7 | ..
S oo 25 | 20| 45
6 1 O | e [ 3 1. 18 || 21 | ...
7 0o 21 o S 10| ... 9
8 Voo 40 20| 120] . 80 | . |...
2 1. L 50 | 100] /0.
X156 7|8 9|10 X176 92 10|58
6 130 | ... 48 | ol 49 | L, 35 ...
7 1. | 49 | 00 L. 30 | 40
8 140 | 1.l 20 | 180 .| .| ...
1. . 54 | 81 | .| ... ACH I 100] . . 80
100 | | 80 | .. 100 | ... 48 || 40 |




